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Read the question paper very carefully.
Candidates are required to give their answers in their own words as far as practicable.
Question Paper is divided into Three parts _A, B & C.
Part-A is containing 12 multiple choice questions.
Part- B containing SIX questions out of which FSUR questions are to be answered.Part C containing FOUR questions out of which TWo questions are to be answered.
Do not write anything except your Roll No. on the question paper.
Possession of Mobile Pholes or any r<ina of Wrjttefr.Mg-teriai, Arguments with the Invieilator orDiscussine with co'student will comes una"" unrrffiifallwitt Result in the cancellation of thePapers.

PART A
MULTIPLE CHOICE QUESTIONS

l. When any dara transfer instruction, to transfer the data
the condition flags are

a. Not Affected b. Always Set c. Always Reset
Specific Conditions

2. XCHG instruction exchanges the content of H_L with

(l2xl=12)

from memory to microprocessor, is executed

d. Affected Indicating

register pair.
D-E d. Stack Pointer

c.Store result in memory.
d. End of program.

d. None of these.

a. B-C b. PSW

4. HLT op code means

a. Load data to accumulator
b. Load accumulator with contents of register.

c.

3' In 8085 microprocessor, the RST6 instruction transfer program execution to following locationa. 0030H. b.0024H. c.0048H. d.0060H

5. In 8085 name/names of the 16 bit regisrers is/are
a. Stack pointer. b. program counter c. Both A ancl ts

6. In Intel 80854 microprocessor ALE signar is made high to
a. Enable the data bus to be r,sed as row order acrdress bus
b. To latch data D0-D7 fiom <Iata bus
c. To disable data bus

d. d. To achieve all the functions listed above.

7. Number of Hex digits needed to represent the 20-bit address
a. 20 b. t6

of a memory

c.5
location are

d.4
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8' which of the following statements for Intel g0g5 is correct?a' Program counter (PC) specifies the address of the instruction Iast executedb' PC specifies the address of the instruction being executedc' PC specifies the address of the instruction to be executedd. PC specifies the number of instructions executed so far

9. Which one of the following is not correct?
a. Bus is a group of wires
b' Bootstrap is a technique or device for loading first instructionc' An instruction is a set of bits that defines u .J*pu,.. op"ru,io,
d. 

. 
An interrupt signal is required at the start of every program

microprocessor has five flags namely:
c. S, OV, AC, P, CY
d. S, Z, AC, P, OV

12. HLDA signal in g0g5 performs the following operation:a' Indicates tt 'i another master is requesting the use of the address and data buses.b' Indicates that the cPU has received the HbLD request and that it w1l rerinquish the bus in thenext clock cycle.
c' Indicates that the cpu has not received the HoLD request.d' Hold the data in the accumulator until the microprocessor is turned oFF.

PART B

(4x7=28)L what is Tri-state logic? Explain the difference between the machine language and the assemblylanguage of the 8085 microprocessor. 
-'^ !'tv ,rqv'rrr! r4,ELr 

l

2' Exprain the fbrowing i,structions with suitable example of each (i) MvI (ii) Mov (iii) LHLD.Explain flags in g0g6 microprocessor.
3' what are the different types of flags in 8085 microprocessor? Explain function of each flag briefly.4. Explain the function of ALE and Io/M signars of the g0s5 microprocessor5' Draw the timing diagram for execution of the instruction I\,IVI A, 42H. rfcodes of this instructionare written in memory of memory Iocation 3000H.6' Describe the register organization in g0g6 microprocessor.

PART C

(2x15=30)
for 8085 microprocessor pin out and signals. Explain each

Draw functional block cliagram of g0g5 microprocessor.
write algor:ittrm and assembry lever program to rino rargest number in an array.Draw functional block diagram of gOSO"mic.op.r..rrorl -- - -

10. The processor status word ofg0g5
a. S,Z, AC, p, Cy
b. S, Z, OV, P, CY

I l. In an Intel 80g5A, which
a. A memory reacl cycle
b. An op-code fetch cycle

1. Construct a neat and clean diagram
signal and print out in detail

is the first machine cycle of an instruction?
c. A memory write cycle
d. An VO read cycle

2.
3.

4,
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MULTIPLE CH.TCE QUEsTIoNs 

PART A

(l2xl=12)1. The view of rotal database content isa' conceptual view u. tnt.rnut ur", c. Externar view d. physicar view2' Key to represent rerationship between tabres is careda' Primary key b' secondary key .. i"rL 0., d. None of the above3' The.. ' .......can be used to ensure darolr^.^ "._._a Entitv integritv o ;d;;. J#;:,xlr::l:i?;,* inregrity d. cardinarity4' which of the following is not a characteristic of a relational database model?a' Table b' Tree like structure 
". 

cornpr., Iogicar rerationship d .Records.5. Which are the join types in join conclition:a. Cross join
b. Join with TJSING clause c. Natural join

d. AII of the mentioned.
6. If A--*8, A*, C then rvhich of the following is true?a. A-+85 b. A_ B c. A*C
7. Which of the lbllowing is rrue regarding views?a' The user who creates a view cannot be given update authorization on aupdate autir.rization on the."trtion, used to define the viewb 

ffi#.,il::;:il:,.:i*.,# be given update aurhorizarion on a

d. All of the mentioned

view without having

vrew without having
update aurhorizarion on rhe,",;; ;:;;,**?Jff;rr,r,
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c. If a user creates a view on which no authogizgtiofr gan be granted, the system will allow the
view creation request

d. A user who creates a view receives all privileges on that view.

8. An advantage of the database management approach is
a. Data is dependent on programs c. data redundancy increases
b. Data is integrated and can be accessed by multiple programs d. None of the above

9. Grant and revoke are statements.

a. DDL b. TCL c. DCL d. DML

10. To change column value in a table the command can be used.

a. Create b. lnsert c. Alter d. Update

I 1. Architecture of the database can be viewed as

a. Two levels b. Four levels c. Three levels d. One level

12. Introduced the relational database rules.

a. Atul kahate b. James Gosling c. EF Codd d. Dennies Rithchie

PART B

ANSWER ANY FOUR OUT OF SIX (4x7=28)

l. What is E-R model? What is an E-R Model Entity ser? Explain with example .

2. What is Data Independence? Explain BCNF with example.

3. What is a Relation Schema and a Relation? Explain various types of relationships among

entities?

4. What are the advantages of DBMS? Write short notes on recovery system in DBMS

5. What is the difference between weak entity set and strong entity set?

6, Describe recovery system in DBMS

PART C

ANSWER ANY TWO OUT OF FOUR (2 xl5=30)

l. What is Normalization'? Explain all normal forms (1st, 2nd, and 3rd)?

2. Discuss any five SQL commands with syntax and examples.

3. Explain the architecture of DBMS.

4. What do you mean by data models? Explain various record-based data models with examples.
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Instluctions to t tes:

|eaA-^tlre 
question paper very carefully.

candidates are required to give their answers in their own words as far as practicable.Question Paper is divided irto ffrreu parts _A, B & C.Part-A is containi ng 12 multiple choice questions.
Part'B containing sIX questions out of which FouR questions are to be answered.Part c containing FouR questions ,r: :l which rwo questions are to be answered.Do not write anything except your Roll No. on the question paper.Possession of Mobils phones o. ury kind of @rialor Discussine with c-o'student wili comes under unfair Means and will Result in thecancellation of the papil- v,ra, rv,

2, The basic limitation of finite automata is that:-a' It can't remember arbitrary large amount of informationb. It sometimes recognize gru.n_L that are not regularc. It sometimes fails to recognize regular grurn*r.-d. AII of the mentioned

MULTIPLE CHOI.JE QUESTIONS 
PART A

l. Languages of a automata is:_
a. If it is accepted by automata
c. If automata touch final state in its life time

(l2xl=12)

b. If it halts
d. All language are language of automata

d. Unlimited

b. Acceprecl by pDA
d. Accepted by Turing Machine

3. There are
a.4

tuples in finite state machine.
b'5 c.6

4. A I.anguage is Regular if and only if
a. Accepred by DFA
c. Accepred by LBA

5. The entity which generates language is termed as:-
a. Automata b. Token c. Grammar d. Data

6. Which of the following sentence is/are correct?
3 AII regular grammar are context free but not vice versab. All context free grammar are regular but not ri." u..r,
: Regular grammar ancl Context fiee grammar both are samed. None of the rnentionerj. 

vvlrr srv r.rrru
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7' what is the relationship between NDFA accepted langiragesaxt'ffiyi, ,"".pted ranguages?2. (= 
b ;,= .:'"- :-l: _ 

,-.9: = d. !=
8. Which of the following statement is wrong?a' chomsky hierarchy originalry define only-two grammars cb. .Type-0 grammar is called unrestricted grammar

: Type-O grammar is recognized by truin!_;_;;"
d. All of these

9. A given grammar is called ambiguous if_
I Tw9 or more productions have iame norlffii-nar on the reft hand sideb' A derivation tree has more than one associated r.r*.*c' There is a sentence with ntore than one derivation t 

". 
.o..esponding to itd. Brackets are not present in the grammar

10. A push down automaton
a. Queue

lf . NPD A stands for
a. Non-Deterministic push down Automata
c. Nested Push down Automata

12. A turing machine is a?
a. Real machine
c. Hypothetical machine

PART B

1. Design a DFA for the following language L = { Qm I n

2. (a) Differentiate NFA and DFA
(b)Write a r.e ro denote a language L which
or i1.

3. (a) Differentiate L* and L+.

b. Null-Push down Automata
d. All of the mentioned

b. Abstract machine
d. More than one option is correct

(4x7=28)

lm)0arrdn>l).

accepts all the strings which begin or end with either 00

(2x15=30)

employs data structure.
b. Linked List c. Hash Table d. Stack

(b) construct a r'e for the language which accepts all strings with at Ieast two c,s over the set )J={c,b}
!. How do we say that a grammar is ambiguous? bxprain with Example.5. Define Context Sensitive language.
6. Convert the R.E. = (alb)* into DFA.

PART C

l' Construct the left-most and right-most derivations and parse trees for the fbllowing grammar
S--, aB I bA
A_* aS bAA la
B--- bS I aBB I b which accepts the string ..aaabbabbba,,.

2. Explain push down automata, ,th an .*u*pl"
3. write a short note on apprication of contexi free grammar.
4. Explain Programming techniques for Turning Michines

B'TECH csE sth- Semester Examination -2021.-221 AJU, Jharkhand


